
Name:___________________________________             Date:_____________ 
PC: Synthetic Division When the Divisor is Not Linear (a = 1) Ms. Loughran 
 
 
 
 

1. Divide  3 2 22 3 16 by 2 3x x x x x      
 
 
 
 
 
 
 
 
 
 
 
 
 

2. Divide 3 2 210 by 3 5x x x x x      
 
 
 
 
 
 
 
 
 
 
 

3. Divide 3 2 23 4 13 6 by 2 3x x x x x      
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Name: __________________________________   Date: ________ 
PC: Long and Synthetic Division Practice    Ms. Loughran 
 
 
 
For 1-7, use synthetic division to divide the polynomials. 
 

1.  x
3 − 5x2 + 4x − 2

x + 2
   2. x

3 − 5x2 + 4x − 2
x − 2

  3.  2x
2 − x +1− 4x3

x + 2
  

 
 
 

4.  4a
2 + 4a −12
2a −1

  5.  6a
2 − 5a +10
3a + 2

  6.  2x
3 − 2x +1
2x + 4

 

 
 

7.  2x
3 − x2 − 5
2x − 5

 

 
 
 
 
For 8-10, use long division to divide the polynomials. 
 

8.  2x
4 − x3 − 2x + 5
x2 + 2x +1

  9.  2x
4 − 3x2 + 7x − 8
x2 + x − 3

  10.  x
3 + 4ax2 + 4a2x + a3

2a + x
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